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Thlrd Semester B.Com. Degree Draminatlon,
August/September 2O21

Commerce

Paper 3.4 - FINAITCIAL MANAGEMENT

Time : 3 Hoursl

Instructions to Candidates
or Kannada.

[Max. Marks : 70

Ansraer should be uritten ampletelg in English

SECTION-A/$qrEri-n

Answer any FI\IE of the following :

olnjroadd.o odc S.drl€rl gudo:, :
.{j

(5x2=1Of

(a) Give the meaning of finance.

d$Ee:'d of,rdd1oea.

(b) A project requires Rs. 20,500 and its scrap value at the end of Sth year is
Rs. 2,500. Calculate Depreciation.

otoeEdob doAd d.a. 20,5OO rrndr udd an€d dflo, dn. 2,500 odd daq,
nSd€ dorrb SoAO)0.

(c) What is Wealth Maxirnisation?

nodd: rlo{eddea mdded;?

(d) What is cost of capital?

aloduorl Jr3,. aodd edc?

(e) Give tJ e meaning of capitat structure.
ood;rds, ddd $dr sdFddig€:L

(0 What do you mean by leverage?

6de.tr aoddedr? sdFddi gen

(g) calculate Discount factor for r 0olo interest at the end of 2nd yezrr.

ootDoq$ rrod lo%do-{,ld dpodddloddde ddsd E dil dodr bAd)o.
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SESI'ION-B/sQad-A

Answer any TIIREE of the following. Each question carries 6 marks : l3 x 6 = 18f

oln$oadd.o d]/odo 4 Ied sr.\rol. q,.9 BoolDd @gddd6 erodrldr:

What are the principles of sound financial planning?

iiie d $6a-;r> olactidol: dd;lea{{.1?

Calculate the future value of a sum of Rs. 1,O0,OO0 if it is invested, @ lOo/o

interest for a period of one year.

?"uard,oad6ed dn. 1,OO,000 doaao$rldd{?"od"r da{ loddd o%obo-&ednfdd, ddr 
-

d.ndobqds*d diod dodJ &aotuo.

Contribution Rs. 5O,OOO fixed cost Rs. 10,00O interest Rs. 5,OO0. Calculate

Financial and Operating leverage.

dadrrl (Contribution) dn. 50,OOO, 1d dd.r d,o. 1O,0OO uA6 dn. 5,OOO rdo$F?.iuidu3*

dE drq daadid dE dod.> &Ad)D.

Thermal scan company is considering purchase of machine. TWo machines are

available B and S. Each Machine costing Rs' 50,O00'

Eamings after tax and before Depreciation are expected to be as follows :

4

J

Year Machine B

25,OO0

20,000

25,000

25,OOO

20,000

Machine S

25,OO0

1s,000

20,000

30,ooo

20,000

DF @ l2o/o

o.893

o.797

o.712

o.635

o.567

i

2

J

4

5

calculate Net present value of the Machines assuming that straight line method

of Depreciation
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f,d"reef ra*rd dodo z"od.: obogddt$ocAie)) qqnd"r ;dd) obogrld B drd.? S 
"dde.il

eildd e)a$F d,o. 50,000 E.S obogdd

o$ogd Oddd e6ro1) dod dGfd drd,? ndd€ *ode)) dr fddodogd:

ddF obog B orog s DF @ t2o/"

1 25,000 25,000 0.893

2 20,OOO 15,000 0.797

3 25,000 20,ooo o.712

4 25,000 30,000 0.63s

5 20,OOO 20,000 0.567

o,Jo?rrl.J {nf dPerrrlddl,gdn, ded idd€ ddog rrCdaizJdrdJ.

What do you mecrn by bonus shares? State the advantages of bonus shares.

dredF6 dedrri$ aodded;? rrClrld rrdrd-aorldd{3cri.

SECTION-C/sADd-n

Answer any THREE questions. Each question carries 14 marks : l3 x L4 = 421

olndlmdd.o *ndo {dJded o.r.!On. {,3olaod:0 Jrl 14 uodrid;:

Explain various forms of Dividend.

a$d erDTdod d,odrlei&{ Sdor.

The capital structure of the Quarantine Corporation Ltd. consists of an equity
share capital ofRs. 1O,00,O0O (Rs. 10 per share) atd 2oo/o Debentures.

Sales increased, by 25o/o from 2,OO,0OO units to 2,50,000 units, The selling price
is Rs. 1O per unit, Variable cost Rs. 6 per unit, Fixed cost Rs. 2,50,OO0, Income
Tax Rate 3O%.

You are required to calculate :

(a) Degree of Operating leverage @ 2,OO,OOO units
2,5O,O0O units

(b) Degree of Financial leverage @ 2,O0,O0O units
2,5O,OO0 units
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raddoe3.,d, dod&oj: Doddrri ddd dr o(3 edro od:od, ded: arod;rad do. ro,00,Ooo

(do. 10 r"od: deDd dd) drdJ 1O,O0,O00 Add 20 arQob ned$dtb.

dDoaej 2,00,000 *r.idd€od 2,50,000 +trddeil $odobnd)"r 25% tdd sodobnd.

lauetl zJd d-4. 1O z:denrtH Jdddro. 6 Ad dd,jdr. 2,50,000, s6aob dOI! dcdd 30.

dodJ &A@)o :

(a) drobFtJdd dddetsc dlfl @ 2,OO,0O0 ob0tfrlsi)

2,5O,OOO otDot d$ 
^

(b) dredrnd Oddecrs @ 2,OO,OO0 ol)ot$ricb

2,5O,0O0 ob&trridJ

Thermal scan company is considering purchasing of Machine, I\vo machines are

available M and N each costing Rs. 5O,OOO.

Eamings after tax expected as follows :

Year M N DF@10%

1 15,000 5,OO0 0.909

2 20,OOO 15,000 0.826

3 25,OOO 20,000 0.7s1

4 15,000 30,OOO 0.683

5 10,OOO 20,000 0.621

Evaluate two machines according to

(a) Pay back period

(b) Present value

(Straight line method of Depreciation assumed)
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f,drref n o. dodo aod) obod/ddt oocffieD qatjld).ndd) obod/rlC dDto3 no. drdi nd.

d; dddodo8d. 93 o$€d dc, d.o. 5O,OOO.

drldr ?"d d0$ dOil ddd dcrd $ 0e3 qd :

ddE M N DF@10%

I 15,000 5,000 0.909

2 20,OOO 15,000 0.426

3 25,000 20,000 0.751

4 15,000 30,000 0.683

5 10,000 20,oo0 0.621

dodr &6oc)0:

(a) &oaEd.g eda

(b) {,i9d d:oo,

(dcd nddd ddo.g ?Jdd?rd)d))

10. Lock down Ltd. has an Equity share capital of Rs. 10,00,000 in shares of Rs. 1O

and lost capital Rs. 15,OO,OOO @ 157o Interest rate.

The output of the company is increased from 1,0O,OOO units to 1,25,0OO units
i.e. 2Oo/o increase.

Selling price per unit Rs. 2OO

Variable cost per unit Rs. 1OO

Fixed cost 15,O0,O00

Income tax rate 3O7o

You are asked to calculate :

(a) Percentage of EPS increase

(b) Degree of Operating leverage

(c) Degree of Financial leverage
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tnd dad OtutJd ood;Dd drjdolr{rodnd, aroduod da. 10,00,000 ({.r ded"t d.6. 10)

DeHdrrldJ 15,00,000 (15x a8"obo)

*dd"{, d". 1,0o,00o Psdri€od 1,25,000 +trdddqe0dolDn&dd. sodd deod 20

aodolnhd.

dDuru de, dn. 2OO 4,.E +Urddj

zrdenrbd daizr d, 10O dr.g +uJddd

Ad dd,jdr. 15,OO,OOO

eoaol) dOrl ged6d 30.

dodr 3"ao9rD :

(a)

(b)

(c)

ded6dJadr EPS $Od

raojoErJdd Oddets

dr?60fu Oddccr6

1 1. Briefly explain the factors influencing the amount of working capital.
d)aobd uodsadd Jrgd $d d/qrrd Aedrd eodrlddiio&E-an $dO:'
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